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Question No : 1

Your client is considering implementing S/4HANA in the cloud and is not sure which
deployment option is the best fit. They need the full functional scope of SAP S/4AHANA
along with the ability to customize, modify, and extend it.

What cloud deployment option satisfies these requirements? Please choose the correct
answer. Choose one:

A. SAP S/4HANA Cloud, private option
B. SAP S/4AHANA private managed cloud
C. SAP S/4HANA Cloud

D. SAP S/4AHANA

Answer: B

Question No : 2

In SAP Integration Advisor, how can you group related information into reusable
segments? Please choose the correct answer. Choose one:

A. By creating matching groups for nodes
B. By qualifying nodes

C. By assigning codelists to the leaf nodes
D. By providing multiple payload data sets

Answer: C

Question No : 3

Your iFlow has diverged into multiple branches. You want to merge these branches into
one common branch. Which of the following routing options can you use? Please choose
the correct answer. Choose one:

A. Aggregator
B. Gather

C. Join

D. Multicast

Answer: C
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Question No : 4

Your client has a requirement that end users need to see analytic content in the form of
charts and tiles. What service in SAP Cloud Platform does this "out of the box" without the
need for coding? Please choose the correct answer. Choose one:

A. SAP Streaming Analytics

B. SAP HANA Advance Analytics
C. SAP Predictive service

D. SAP Smart Business service

Answer: D

Question No : 5

Which settings can you use to connect to twitter? There are 2 correct answers to this
guestion. Choose:

A. Use Request and Reply with HTTP adapter

B. Use only the Twitter outbound adapter

C. Use Request and Reply with Twitter outbound adapter
D. Use RFC adapter to connect directly to twitter

Answer: A,C

Question No : 6

You develop an app using the SAP Cloud Application Programming Model (CAP). What do
you use to define the data model? Please choose the correct answer. Choose one:

A. Core Data Services (CDS)
B. SAP Cloud SDK
C. SAP Cloud Platform SDK

Answer: A

Question No : 7

Which SAP Cloud Integration process step allows you to run iFlows directly after
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deployment? Please choose the correct answer. Choose one:

A. Message Digest
B. Content Modifier
C. Scheduler

D. Timer

Answer: D

Question No : 8

At what levels do you secure message exchange? There are 2 correct answers to this
guestion. Choose:

A. Message

B. Deployment
C. Transport
D. Runtime

Answer: A,C

Question No : 9

Which ISO codes are supported in SAP Integration Advisor code lists?
There are 3 correct answers to this question.
Choose:

A. Industry codes
B. Currency codes
C. Territory codes
D. Language codes
E. Country codes

Answer: B,D,E

Question No : 10

Why does the APl Management capability of the SAP Integration Suite require API
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providers? Please choose the correct answer. Choose one:

A. To incorporate APIs from other systems
B. To create authenticated API instances
C. To create new custom APIs

Answer: A

Question No : 11

You split a message, modify the split message, merge the split message and send in a
single message via a Web Service. What are the steps to accomplish this? Please choose
the correct answer. Choose one:

A.

1. Split

2. Multicast
3. Aggregator
4. SEND

B.

1. Split

2. Aggregator
3. Join

4. SEND

C.

1- Split

2. SEND

D.

1. Split

2. Join

3. Gather

4, SEND

Answer: D

Question No : 12

You want to develop an SAP HANA extended application services, advanced model app.
What can you use to define the database layer?

Please choose the correct answer.
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Choose one:

A. Java Persistence API layer for SAP HANA (JPA)
B. SAP HANA Deployment Infrastructure (HDI)

C. SAP HANA SQL

D. Core Data Services for SAP S/4HANA (CDS)

Answer: D

Question No : 13

Which of the following are process templates of SAP's Intelligent Enterprise?
There are 2 correct answers to this question.
Choose:

A. Design-to-Cash
B. Lead-to-Cash

C. Lead-to-Pay

D. Design-to-Operate

Answer: B,D

Question No : 14

What are approaches to develop a REST API? There are 2 correct answers to this
guestion. Choose:

A. Contract First
B. Code First

C. Protocol First
D. Schema First

Answer: A,B

Question No : 15

When you build an iFlow, what can you do to handle errors? Please choose the correct
answer. Choose one:
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A. Implement an exception handler iFlow element
B. Place artifacts into a TRY-CATCH subprocess
C. Create an exception-handling subprocess

D. Use a condition to check status codes

Answer: A

Question No : 16

Which usage options are offered by SAP Cloud Platform Integration?
There are 2 correct answers to this question.
Choose:

A. Value mapping
B. SOAP service
C. Data migration
D. OData service

Answer: A,D

Question No : 17

Which of the following tools can you use to set up secure communication between an SAP
on- premise system and the SAP Cloud Platform?

Please choose the correct answer.
Choose one:

A. SAP Cloud Platform Integration Suite
B. SAP Cloud Platform Open Connector
C. SAP APl Management
D. SAP Cloud Connector

Answer: D

Question No : 18
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Where do you find information about APIs built by partners and SAP? Please choose the
correct answer. Choose one:

A. SOA Manager

B. Enterprise Service Repository

C. SAP Cloud Platform APl Management
D. SAP API Business Hub

Answer: D

Question No : 19

Why must an instance in SAP Open Connectors be authenticated? Please choose the
correct answer. Choose one:

A. To build a custom connector to connect with an API provider
B. To view the respective connector's APl Docs
C. To access the data in the associated third-party service tenant

Answer: C

Question No : 20

What is an advantage of the consumption-based commercial model over the subscription-
based commercial model? Please choose the correct answer. Choose one:

A. Customers pay a fixed price upfront for the services they plan to use.
B. Customers can use all services paying a flat fee.

C. Services can be used with service-specific commitment.

D. Services can be used without service-specific commitment.

Answer: D

Question No : 21

In what order do you set up outbound communication via HTTP to an on Prem back-end
system?

There are 2 correct answers to this question.
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Choose:

A. 1. SAPCPI

2. Web dispatcher
3. HTTP Interface
B.
1. SAPCPI

2. SAP cloud Connector
3. HTTP Interface

C.
1. SAPCPI

2. HTTP Interface

D.

1. SAP CPI

2. SAP Business Connector
3. HTTP Interface

Answer: B,C

Question No : 22

Which of the following is a publicly managed SAP solution? Please choose the correct
answer. Choose one:

A. SAP S/4HANA Cloud, extended edition
B. SAP S/4AHANA Cloud, essentials edition
C. SAP HANA Enterprise Cloud

Answer: B

Question No : 23

You have created an SAP Open Connectors instance and want to create a product from it
in APl Management. Which sequence of steps must you perform?

Please choose the correct answer.
Choose one:

A. Create a Product. Create an API Provider. Create an API Proxy.
B. Create a Product. Create an API Proxy. Create an API Provider.
C. Create an API Provider. Create an API Proxy. Create a Product.






